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Step 1.

v

NO,Cl = NO, + Cl (slow)




Step 1. Step 2.

v
A

NO,Cl > NO, +Cl (slow) NO,Cl + Cl & NO, + Cl, (fast)




Step 1. Step 2.

v
A

NO,Cl > NO, +Cl (slow) NO,Cl + Cl & NO, + Cl, (fast)

=+157 kJ



Step 1. Step 2.

v
A

NO,Cl > NO, +Cl (slow) NO,Cl + Cl & NO, + Cl, (fast)

AH_ = +157 k]




Step 1. Step 2.

v
A

NO,Cl > NO, +Cl (slow) NO,Cl + Cl & NO, + Cl, (fast)

fwd 1
Ea

AH_ = +157 k]




3ibliography

tudents in Dr. Mattson’s class do not plagiarism!
lence, we just wanted to include the singular sources that we used!
ttp://mattson.creighton.edu

PS we also thank the blue bird for making an appearance)



S




